Tl 6 FEXARTFIHESETHER (48]

= AR 2 1 B P =T 2 13 B
£ biggemEEt> s —di| 9:45 ~ 10:05 TAREFREALREE| 9:20 ~ 9:35
* BHEAARE [10:15 ~ 10:25] | EATREAARLE| 9:40 ~ 9:50
x =2 T EAARE[10:30 ~ 10:40 jj( HATEEAARLE| 9:55 ~ 10:05
n mipmss L= oers-| 10145 ~ 11:00 \IBEANEREE [10:15 ~ 10:25
wl| aB 0B \ it \
it HREGARE |13:40 ~ 13:50| || 4R16 BN | BERAAKE |10:35 ~ 10:45
= TREEBARE|14:00 ~ 14:10 HBEEAARE [10:55 ~ 11:05
[ M2 BAEAAREE | 14:20 ~ 14:30| | ELEPAAREE |13:40 ~ 13:50
EEEAARE |14:40 ~ 14:50 :; FFEALRE [14:00 ~ 14:10
HUEAARE [15:00 ~ 15:10) | o IREAAREE |14:20 ~ 14:30
o WZEBREAARAE| 9:30 ~ 9:40 SHESAAREE  [14:40 ~ 14:50
H HEEBAREE | 9:50 ~ 10:00] |@EdKibx) BB ARE | 9:20 ~ 9:30
7K BETEANRLE|10:10 ~ 10:20| [ ] FAREAAREE | 9:35 ~ 9:45
it LHEEAANREE |10:30 ~ 10:40 FAITEEA/ REE | 9:50 ~ 10:00
| P O RO e AR (1330 ~ 1340 EILEANREE [10:05 ~ 10:15
AFAEAARE [13:50 ~ 14:00] [* 1%/ TEAAREE |10:20 ~ 10:30
AERAEEAARE|14:10 ~ 14:20 ; IL7BO | srr EaaREE [10:40 ~ 10:50
BEEMEBARE|14:30 ~ 14:40| [ BEEAAREE [11:00 ~ 11:10
NEEEBARE| 9:20 ~ 9:30] | & DEEAARE|13:30 ~ 13:40
t su0er o 2ENESmR| 9:40 ~ 9:50 FERTHEAAREE [13:50 ~ 14:00
X FILGEAAREE[10:00 ~ 10:15 SZEREALRE |14:10 ~ 14:20
4811 B(K) | BHBBEBARE|10:25 ~ 10:35 2 CEAMOR) |14:30 ~ 14:40
i TREBIEEAARE|10:45 ~ 10:55 YHBEAAREE | 9:30 ~ 9:40
K SHEEAAREE |13:30 ~ 13:40 AIEEAAREE | 9:50 ~ 10:00
- EOEEAAREE [13:50 ~ 14:00| [y 1BREAAREE [10:10 ~ 10:20
X FHEHEANREE|14:10 ~ 14:20| || 4P 18B(R) | stEEAAREE |10:30 ~ 10:40
ESTEAAREE [14:30 ~ 14:40| |2 BISMEAAREE [10:50 ~ 11:00
STINEFEAAREE| 9:20 ~ 9:35] |R hiEEEANREE [11:10 ~ 11:20
rrEanReE | 9:45 ~ 9:55] [ BREEEANEEE [13:30 ~ 13:40
7 THREAARE [10:05 ~ 10:15] | ZEEEAESE |13:50 ~ 14:05
tlag128@)| HREBA/RE |10:20 ~ 10:35 I/ RBBAKEE [14:15 ~ 14:25
7K FEETEAAREE [10:45 ~ 11:00 TAS FEAAREE |14:35 ~ 14:45
it B BEEAREE|13:30 ~ 13:40 ximmssrL-—>oe>s—| 9:30 ~ 9:45
= ermEanreg|13:50 ~ 14:00 | | | wkasm [10:05 ~ 10:25
KAFEAAREE |14:10 ~ 14:20 KEASE  [10:45 ~ 11:05
EABEEALRE|14:30 ~ 14:40




